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M. A. (Home Science) 
(Fourth Semester) (Main-ATKT) 

EXAMINATION, May-June, 2020 
HUMAN DEVELOPMENT 

Paper First 

(Methods of Studying Human Development) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 
 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  
(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 
(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 
 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 
Choose the correct answer : 

1- fodkl ifj.kke gS % 
¼v½ ifjiDork dk 
¼c½ vf/kxe 
¼l½ xzafFk;ksa dk 
¼n½ ifjiDork vf/kxe dk 
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Development is the result of : 

(a) Maturation 

(b) Learning  

(c) Glands 

(d) Maturation learning 

2- ewY;ksa dk vtZu ------------- fodkl dh vof/k;ksa esa gksrk gSA 

¼v½ [ksy 

¼c½ ‘kkjhfjd 

¼l½ laosx 

¼n½ uSfrd 

Value are learned during the development of : 

(a) Play 

(b) Physical 

(c) Emotion 

(d) Moral 

3- dksycxZ ds uSfrdrk fodkl ds fl)kUr esa --------------- Lrj gSaA 

¼v½ 2 

¼c½ 5 

¼l½ 3 

¼n½ 7 

There are ........ levels in Kohlberg’s theory of moral 
development. 

(a) 2 

(b) 5 

(c) 3 

(d) 7 
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4- laKkukRed lajpuk D;k gS \ 

¼v½ lwpuk,¡ laxfBr djuk 

¼c½ lwpuk i`FkDdj.k 
What is Cognitive Structure ? 

(a) Organizing information 

(b) Isolation of information 

5- uohu Kku dks vrhr dh lwpukvksa ls lac) djuk dgk tkrk gS % 

¼v½ lwpuk feJ.k 
¼c½ leatu 

¼l½ vkRelkru 
¼n½ laKku 
Associating new knowledge with previous information is 
said :  

(a) Information mixing 

(b) Accommadation 

(c) Assimilation 

(d) Cognition 

6- vge dsfUnzr ok.kh D;k gS \ 

¼v½ vkRedsfUnzr 

¼c½ vga mUeq[kh 
¼l½ vkRedsfUnzr ‘kCnksa ij cy 
¼n½ vge 
What is Egocentric speech ?  

(a) Selfcentrism 

(b) Ego oriented 

(c) Emphasis on selfcentered words 

(d) Ego 
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7- ccykus dh vof/k D;k gS \ 

¼v½ 5&8 ekg 

¼c½ 5&10 ekg 

¼l½ 1&3 ekg 

¼n½ 2&3 ekg 

What is the period of bubbling ? 

(a) 5-8 month 

(b) 5-10 month 

(c) 1-3 month 

(d) 2-3 month 

8- ok.kh ----------- dk ,d :i gSA 

¼v½ /ofu 

¼c½ vFkZ 

¼l½ lEizs”k.k 

¼n½ Hkk”kk 
Speech is a form of : 

(a) Sound 

(b) Meaning 

(c) Communication 

(d) Language 

9- ltZu’khyrk ,d mRikn gSA 

¼v½ lgh 

¼c½ xyr 
Creativity is a product. 

(a) True 

(b) False 
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10- ltZu’khyrk ds fodkl esa ------------ ØkfUrd vof/k;k¡ ik;h tkrh gaSA 

¼v½ 3 

¼c½ 5 

¼l½ 4 

¼n½ 7 

The development of creativity involves .......... critical 
periods. 

(a) 3 

(b) 5 

(c) 4 

(d) 7 

11- cqf) dk f=vk;keh ekWMy --------------- }kjk izLrkfor fd;k x;kA 

¼v½ LVuZ 

¼c½ LVuZcxZ 

¼l½ lkbeu 

¼n½ fxyQksMZ 

Three-dimensional model of intelligence was proposed by : 

(a) Stern 

(b) Sternberg 

(c) Simon 

(d) Guilford 

12- fcus ds cqf) ijh{k.k dk izFke laLdj.k ---------- esa izdkf’kr fd;k x;kA 

¼v½ 1905 

¼c½ 1904 

¼l½ 1901 

¼n½ 1902 
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The first version of Binet’s intelligence was published  

in :  

(a) 1905 

(b) 1904 

(c) 1901 

(d) 1902 

13- oS’yj dk ijh{k.k fdl o”kZ esa ,oa dgk¡ izFke ckj izlkfjr fd;k  

x;k \ 

¼v½ 1939 Ýkal 

¼c½ 1939 fcY;w vLirky 

¼l½ 1943 fcY;w 

¼n½ 1940 fcY;w vLirky 

In which year and where the Wechsler’s test was 

administered  for the first time ? 

(a) 1939 France 

(b) 1939 Bellevue Hospital 

(c) 1943 Bellevue 

(d) 1940 Bellevue Hospital 

14- fuEufyf[kr esa ls fdl vof/k dks leL;k vof/k dgk tkrk gS % 

¼v½ o)̀koLFkk 

¼c½ e/;koLFkk 

¼l½ fd’kksjkoLFkk 

¼n½ izkS<+koLFkk 
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Which of the following ages is called problem age ? 

(a) Old age 

(b) Middle age 

(c) Adolescence 

(d) Adulthood 

15- fuEufyf[kr esa ls fdlds dkj.k oSokfgd fo?kVu dh laHkkouk vf/kd 

jgsxh \ 

¼v½ mPp izfLFkfr 

¼c½ vfHkoŸ̀kh; vlekurk 

¼l½ vfHkoŸ̀kh; }kjk 

¼n½ vUrtkZrh; fookg 

Which of the following is stronger predictor of marital 

disruption ? 

(a) High status 

(b) Attiudinal dissimilarity 

(c) Attitudinal conflict 

(d) Intercaste marriage 

16- o;of̀) -------------- dh vof/k gSA 

¼v½ ifjiDork 

¼c½ lqlek;kstu 

¼l½ /kkfeZdrk 

¼n½ kl 
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Aging is the period of : 

(a) Maturity 

(b) Good Adjustment 

(c) Religiosity 

(d) Decline 

17- 12 o”kZ ls 18 o”kZ dk vk;qdky dgykrk gS % 

¼v½ fd’kksjkoLFkk 

¼c½ ckY;koLFkk 

¼l½ ;qokoLFkk 

¼n½ ‘kS’kokLFkk 

12 years to 18 years age are called : 

(a) Adolescence 

(b) Childhood 

(c) Adulthood 

(d) Infancy 

18- fodkl dh vof/k esa fof’k”V ifjorZu ----------- dgs tkrs gSa] tcfd 

oS;fDrd ifjorZu ------------ dgs tkrs gSaA 

During the development stages the typical changed are called 

......... whereas individuals variations are called ........  

19- fofHkUu vk;q oxZ ds ckydksa dk v/;;u dgk trkk gS % 

¼v½ izfrfu/;kRed fof/k 

¼c½ vuqnS?;Z fof/k 
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Studying boys of different age groups is called : 

(a) Cross sectional method 

(b) Longitudinal method 

20- lokZf/kd fo’oluh; ifj.kke fdl fof/k ls izkIr gksrk gS \ 

¼v½ izs{k.k fof/k 

¼c½ iz;ksxkRed fof/k 

¼l½ iz’ukoyh fof/k 

¼n½ lk{kkRdkj fof/k 

What method provides most reliable results ?  

(a) Observation method 

(b) Experimental method 

(c) Questionnaire method 

(d) Interview method 

 [k.M&c  

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj 2&3 okD;ksa esa nhft,A izR;sd iz’u 

2 vadksa dk gSA 

 Answer any eight questions in 2 or 3 sentences. Each 

question carries 2 marks. 

1- vuqnS?;Z fof/k 

Longitudinal method 
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2- {ks= v/;;u fof/k 

Field study method 

3- voyksdu esa fo’oluh;rk ds :id 

Establishing reliability in overvaction. 

4- Hkk”kk fodkl 

Language development 

5- vo/kkj.kkRed fodkl 

Perceptual development 

6- oS;fDrd v/;;u fof/k 
Case study method 

7- cqf)&YkfC/k 
Intelligence quotient 

8- ltZu’khyrk 
Creativity 

9- vfHk;ksX;rk ijh{k.k 
Aptitude test 

 [k.M&l  
(Section—C) 

y?kq mŸkjh; iz’u 
(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A izR;sd iz’u dk laf{kIr 75 ‘kCn 
esa nhft,A izR;sd iz’u 3 vadksa dk gSA 

 Answer any eight questions. Answer each question is 
short in 75 words. Each question carries 3 marks. 

1- vkRefujh{k.k fof/k D;k gS \ 
What is an Introspection Method ? 
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2- Økl dYpjy fof/k 

Cross cultural method 

3- laKkukRed fodkl dh fi;kts dk fl)kUr 

Ptaget’s theory of cognitive development 

4- cks/k dk fodkl] fo’ks”krk,¡ 

Development of understanding, characteristics. 

5- Hkk”kk fodkl ds fl)kUr 

Theories of language development 

6- lTkZu’khyrk ds fu/kkZjd 

Determinants of creativity 

7- FkkWuZMkbd dk cgqrRo fl)kUr 

Thorndike’s multifactor theory 

8- uSfrd fodkl dh voLFkk,¡ 

Phases of moral development 

9- iz’ukoyh ds izdkj  

Types of questionnaire 

 [k.M&n  
(Section—D) 

nh?kZ mŸkjh; iz’u 
(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A izR;sd iz’u 5 vadksa dk gSA 
 Attempt all questions. Each question carries 5 marks. 

1- fcus VsLV ij laf{kIr fVIi.kh fyf[k,A 

Write a short note on Binet’s test. 
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2- o)̀koLFkk ,oa fodklkRed ladR̀; ¼dk;Z½ 

Old age and development tasks 

3- cqf) ,oa ltZu’khyrk esa laca/k 

Relation between Intellegence and Creativity. 

4- iz;ksxkRed fof/k 

Experimental method 
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